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40x1=40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each

quéStion has four options out of which only one is correct. You have to

mark your selected option on the OMR sheet. 40x1=40
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g lenses is used to remove short §ighte

(A) SEETHR (B)

S

Which of the followin

(D)

dness ?

(a)  Cylindrical (B) Convex
(c) Concave (D) Bifocal
@ aaagammwﬁmmvﬁwarmmam%
(A) ¥ 3iawgs W @(B) g HYE T
(D) i @ 7

argl I8 |
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Most of the refraction of the light rays entering the cye occurs at
(A) Interfacc of aqucous humour

Interface of cyc lens (B)

A8), Outer surface of cornca (D)  None of these

7, et # ot o s 2 2

% BRI
) 3t

Which of the follbWing is the unit of power of lens ?

. g'/ dioptre -

(€

(B) watt

erg (D) joule

e 3§ RRg YR %1 g R’ S @ ?
———— e e

%‘m

(©)
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What type of lens is found in human eye ?

M Convex

©

- (B) Bifocal

Concave (D)  Cylindrical

19 m%mﬁmmwm@m%’ 4

A

(D)

Wmm
. ® °
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Which mirror is uscd as shaving mirror ?

(A)  Concave mirror (B) Planc mirror

(C) Convex mirror (D) . None of these

—_—

ﬁﬁm%mmzﬁmmwnﬁﬁamwmama@ﬁ@w

T, g i fufy el B =i 2
(A)  Sshdl g A W N (@B) g@mwam%a%mﬁa
Haﬁn—%ﬁqt
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If the image of an object formed ‘by a concave mirror is virtual,|

crect and larger than the object then where should be the location

of the object ?

' -—m}/ Between the pole and principal focus of the mirror

@ s 61 o 1 gt 1 s 1 e ¥
% e 6 e <ig 6 A B FoR

agﬁarr&ﬁam?ﬂ

/ 24(M) _H/S-41003-(51/69)

(B)

(D) T A BT

©

(A) chondv the centre of curvature ‘
(B) 'Bctwcen principal focus and centre of curvature 4
(C) At the centre of curvature

Page 6014

u 1112
’I“hc capacity to bend rays of light is called
e ABY”  the power of lens . @
% (B) the fcciprocal of the power of- the lens
] " (C) thec power of accommodation of the lens
(D) noncof these ‘ QQ’QRQ% &
@ e A ':;m_ S sifafé gt &
u A) @ B)
| © @/ wH & wft ;

The image obtained by a concave lens is

(Aj diminished (B)  erect

(D) . all of these

ma&mﬁm&wm

(A) 15 cm

(©)  virtual

(C) 40cm

" The radius of curvature of a concave mirror of focal length 20 cm is

(A) (B) 10cm

1Scm

(D) 60cm .

24(M)-H/S-41003-(51/60)
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In which device does the split ring act as a commutator ?

(A)  Electric motm‘@ (B)  Galvanometer
(C)  Voltmeter {

() T @ e Electric.: gencrator
¢ N . d@nsst 3
(© - fad @(m wH A wh 2)1e._FIH 31 00 g § wwen ah afe D ww d

s slab. Which of the
A white ray is incident obliqucly on a glass slab

@ 3w dpe ® @i
- P @ 0 e

The device which directly converts solar cnergy into electricity is

. ion ?
following will occur with tht? first refraction

iati - (B) Total reflection
L&~ Deviation 3

(A)  Daniel cell ®)

L:_& Solar cell "(D)  Eveready cell

14. @ﬁfgamagﬁ- 'wlﬁmzzoa’tﬂ%ﬁgﬁaﬁa

A Tl e wm & o
& 12ufEr ®) 28T

© g_vﬁm . '(D) 0-18 TRRR i

(D)  Allof these

Y Dry cell
(¢c) Dispersion

) e g e e o 1 1 8 &
B ®
nw O

. - : . R lou
In domestic clectric circuit the co

r of ncutral wire 18

’; (B)' Green ) The resistance of the filament of an electric bulb is 1200 ohms.
I 2 ‘ (A) e - ' J I How much clc‘ctric current will the bulb_draw from an electric -
. L-‘.QV Black (D) Yellow . : . source of 220 volts ? . @ .
- . (A) 12 ampere (B) 2-8 ampere
(C) 2 ampere 0) 018 amperc
@)-H/S‘4 1003-(s1/60)| Page 9 of 40
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Vﬂ 1.5V ® 3J
© 15J

tromotive force ofaccllis 1-5 \Y

The clec
a chargcof 1 C will be
._w/ 1 B ®B) 3J
(D) O

(@] 1-5J

2 )W"fﬁqiﬂﬁg}?ﬂ‘g') :
% e 1 8 ﬁam%aﬁ—ﬁm%ﬁw

Graaﬁwgmamﬁwésm
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(B)

(©) a@ms@ﬁm%aﬁﬁm%m
/ — ——

D) TEESE A @

Why is a rainbow colourful ?
W Dispersion of white light by water dropleLs

Absorption of water droplets

1112

mgﬁs‘:ﬁémwﬂﬁm

. Thc work donc ot passing

1112|

Out of a
combmat
10n of re.
sistors, o
nec resistor
is removed
and it is

ound Lhat r s S was
{ the nct
esi tancc ha incre
ased. he resistor a

By

(C) cannot be said (D)

parallel
(B) series

nonc of these

{8 5 #R A 60 w,
’ 60 W, 200 V) @ (40w, 2oow%amloovamﬁé

EEEENETT
(= )
oy e D
C
(C) 15w @ ) e

Two Iabplianccs
rated as ( 60 W, 20
» 200 V) and ( 40
W, 200 V) arc

connected C! powe:
S PP TO e total wer
across 100 V su Iy mn a om. Th (o}

consumed is

L_é‘} 25 W ®

© 15w D)

10w

none of these

._U % 1 -1 7 figa-ahey ﬁﬁgﬂ_ﬁaﬁﬁgﬁﬁmgg

(B)
(C) Dispersion of white light by air 2
(A) _I_R—-— (B) V /R
(D)  Nonc of these © w %w
gﬁﬁuﬁ%@nﬁmﬁﬁ@uﬁﬁwwéﬁq{ gﬁﬁuaam% Wh'h——- _
- — — P of the following expressions. represent(s) electric o
: I8 Faifera o1 @ Bhie Sitoilie D . power in
% SIRIE e @) wfEg (A)  I%R B VYR
© == Téj R (®) 37{11————-—3"ﬂé Z . © v BF All of these
4
RN KT
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© % O 3 L T N
The maximum valuc of magnification in a convex mirror is Which of the following substances B o
1 _ (D) infinite “AY  Aluminium o POrcciain

@ ﬁwamwm% _@mﬁmm‘@%%?

S @) e e

i & ol © g =

(©)

Potential difference is measured by

WlllCh of the f()llOWlll is necessar y to Obtalll nuclear eéner ?
gy
(“ HCllqu) J(B) Ulamum !

(A) ammeter (B)  voltmeter
N 3
(C)  voltamecter (D) ~all of these © Aluminium Chromium
@ ﬁwﬁm-ﬁﬁq—mmm%? \ “+ V @ aﬂaﬂﬁ@&aﬁéﬂﬁmﬁ@m% .
(a) ave = o - 3 a‘T—eaﬁrt@m @ 13w Q .
© 1% J¥F @

m&@mmaﬁn@nmaﬁna\}

Which of the following statements is true ?

(A) volt = ampere + ohm (B) volt = ohm + ampere

émpere =volt + ohm (D) ampere =ohm = volt

«ey

Page 12 of 40
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The absolute refractive index of air is actually

(A)  less than 1 @ —I(BY , more than 1
(C)  equaltol ' O o

Page 13 of 40
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(A) S F’;T_ _3‘1“3‘_% )@
(© uwad v (D) Tl A B
P

Mirror uscd by ENT ( Ear-Nose- _throat ) doctor is

i concave mirror
(A)  convex mirror B)

(C) plane mirror (D) none of these
b 3o § frg g w1 I B @ 2

Which of the following gases is used in welding ? :

}(A) Mcthane s (B) .Ethyne
;P (C) Ethanc (D) Ethenec
| _TeshH (Alkene) 1 HHH H

(A)  C,Hyu.p (B) CpHp_o

(2 @ (D) C,Hay

The general formula of an alkene is

(A)  C,Hpns2 B) C,Hy, 5

| Lg/ G cHA S (D)

j ; [24M)-H /S-41003-(51/60)|
| S ,

Cn I-{2n— 1
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Which onc of the following is a clean cnergy %ourcc.9

A Cos
(A) oal “B) Wood

(C) l\{atural gas (D) All of these

(50 0 T o it 3 v e 35

(A) 40848

(B) 509 5-8

Within which pH range does our body work ?

© 60368

(A) 401048 e T

' r ) 7OLO7~82

@_‘@1_ TETe g ﬁqf‘aﬁga G
CQ%W B)
%C()ngoﬁ

@ ™ cy,
Which of the following is the chemical formula 6T gluegse—

/"‘“‘

(© 601068

() CHyOH ®)
Y cgH L0, )
24(M)-H1/S-41003-(51/601]

CeHgOp

CeHy
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!!c atomic number of sodium 1s

(B) 29
(Dyo

[112]

< (g"{ @ 17 B
7
< (C) 11
Zn +CuSO, = ZnSO +Cu @

(© ffem D (O o

The above reaction 18

Zn +CuSO, = ZnSO, + Cu

an cxamplc of &

(A) Combmallon rcaction @
-‘@/ Dlsplacement reactlon

(C)  Double dis

(D)  Dccompos!

ongare e 227

(a) TIPS

ition rcaction

mmﬂﬁ“m_i-f

placement reaction

(B wem?

E (o) ¥

5(C) f@ @ X
; {24(M)-H/s-41003-(su
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On mo fi s
vin
g Irom right to lef across the period or thc modern ;
periodic table, (he atomic size

Al i d )
(A) mcrcascs‘ K‘B) dccreases

rcmains unchanged

nonc of these
@ wﬂﬁ#&m‘ﬁmaﬁmm% aﬁmmmg

WO o

C) =WhIT ITeq

When magnesium ribbon is ignited, the flame ;-Jroduccd by it is

(A)  Yellow @ (B) Bluc
(&{ Dazzling white (D) Red

@ WO 1 ST 3 CyH, BT R
(A) 9 wEEAN du7 B) -

% 7 GEHANTh §uT @(D) 6 WEGATH qux_
The molecular formula of ethane is C,Hg. It has

(A) 9 covalent bonds (B) 8 covalent bonds

‘W 7 covalent bonds (D) 6 covalent bonds %@

)@/mﬁmagag%amﬁaaamﬂ@mm

@) Wmmﬁm |
el @

(€)
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The chemical substance uscd as a cast for setiing broken bones in

surgery is @
(A) Washing soda (B) Plaster of Paris )
13

(D)  Gypsum

(€) Quicklime
Prerifern W wEE A § 2

K~ KCl ' @ (B)_ MeCLPO

() CH Dy _1\221&

ent compound ?

Which onc of the following is & coval

N KCl ®) MgCly
(D) NaCl

() CH,
@ ﬁﬁaﬂmﬁmﬁaﬁﬁm%
—_— ———————
)  SEE my?ﬁ'm
§ (D) 7l § W A

(€ &RE

An agueous solution of ammonium chloride is

@ \&ﬁ) acidic

(A) ncutral

(C) basic (D) nonc of these
@ W 5§ 9 faga =1 AP @ 22

A

© @ L(Tj )
‘24(M )-H/S- ~41003-(51/60)
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Which of the
following i
owing is a good conductor of ¢] ici
(A)  Plastic o
9 (B)  Iodine

(C)  Sulphur

@ '
S T TR g 3

\

" &

The CllClIllCal for mula of Chalk 18

@. (B)  Na,Co,

v.,% CaCo,
(D) Mg (HCO

-Qﬁ”mﬁw@g?
B Em

e @ DN
: © @ ) (D) =

STEAT

—

(A) MgCO,

3)2

W l‘llCll [;
of the followmg metals is the most ductile ?
(1lc

~&r  Gold ' ‘
7=l B Copper
€ 1 .
rOn (D) gl_x-lc

O @ﬁwmcam%%mﬁmwgw%g
“io@ C) ‘

24(M1-H/s-41003-(sm|

s i

()
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How many
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structural isomers of pentanc, having molccular

formula CgH,, arc possible ?

frareis (500 PR &

(A)

T

wfeeee W18 @Q) 7%2:(3{5

Uewhige T8 (D) FEITE T

The functional group >CO is called

(A)

\-'.(9/ alcohol group

aldehydc group (B)  cther group

(D)  carbonyl group

@ mmm%ma&ﬁmwmmmﬂﬁ@w

Wa?«rnw%laga?a

ﬁmﬁaﬁ"rﬁaﬁﬂz‘rméﬁ

(A)

©)

A metal reacts with oxygen

point. This compound i

A~ -

NG

nd with high melting

Sfeaad

to form a compou

is soluble in water. Which of the following

clements can it be ?

(A)

C)

" Silicon

(B) Carbon

@
(D) Iron
l 24(M)-H/S—4 1003-(51/60)

CAalcmm‘

Page 20 of 40

Malachite is an ore of Wthh metal ?
(A) Mg (B) Cu
(C)  Fe (D) Au

Pﬁ%mﬁmméﬁawﬁﬁmaﬁmé

| @ __/@] ) J

The process of coating a layer of zinc on iron is called

(A) electroplating (B) corrosion

\
1“’%]

f@mﬁﬁqﬁﬁq—mmmmaa

ehfes vt B) T
M

wififer T SN 3

: )
Which of the following acids s found in vinegar ?

(A)  Acetic acid . ) (B) Sulphuric acid

(D)  Hydrochloric acid

24(M)-H/S-4 1003-(s1/60)

(@] elc_ctrolysi'é

(C)  Formic acid

Page 21 of 40
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ﬂﬁﬁma‘ﬁmmm%l@mm%’ ; Th i
| ¢ commercial production of cthyl alcohol is done by which

" ?@ |- chemical process ?
(C) / @ (A)  Oxidation @ (B)  Reduction

~€) Fcrmentation (D)  Roasting

The atomic number of magnesium is 12. What is its valency ?

52. el I 1 THENS gF #7122

@ 1 e 2 ' |

© 3 (D) 4 3 (C)  Ca(HCO,) (D) CaCO,

Frrifen i B g W Frcqd 3T% QU & faerd | a’r@ B0 A @ 2 : What is the chemical formula of quicklime ?
= ] D

— o s (C) Ca(HCOy), (D) ~ caco,

of the following metals is displaced from its salt solution by

Which
(A)  NaCl+KIO; (B) NaCl+KI

iron ? @
. (a) 3 () FH D)

Y/ Copper A lodized salt is
| (C) - Calcium (D). Magnesium (A) - NaCl +KIO, (B) NaCl+KI
@ feret teTETe F amm ez o Tt f mﬁﬁi’ (8)~ Both (A) and (B) None of these
(9 e i A 1 TR T w2

_ | &) e m @) Ffomm wethe m@!
i gethe 2RSS (D) Hfewun wRES
003-(51/60) page 22 of 40 Ly 139
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(C) Autotrophic (D)

What is the chemical name of Plaster of Paris ?
(A) Calcium sulphate
(B)  Calcium sulphate monohydrate

Calcium sulphate hemihydrate

58
(D)  Calcium chloride oY
SN
Fefre font § w7 IufRd w2
S TR (B) e
© =EH (D) T & o T
What is present in cathode rays ?
L‘é’ Electron (B)  Proton
(C) Neutron : (D) None of these

was § 9N 1 SE-H fafy g 2

. 3
7, P il
(C) _E=drd & (D) A
Which mode of nutrition is found in fungi ?

W Saprophytic

None of these

(A)  Holozoic

[i12|

[24(M)-H/S-41003-51/60)
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R R e 3
A '
» s d B) e i
o
Latex is found in @
(A)  Pinus (B) Rose
Ui afird g 2
.I(A] TS g ‘ B _3mzgm @
(© 7l gm : (D) ST Fw
Aﬁdrogen is sccreted by the
(A) - Ovary (B) Testes
(C) Duodengm (D) Stomach
59. <Zfdmram
W TeE_ (B) W E
C) IS & @) YRR
. Style is part of
(A)  Filament (B)  Gynoecium
ﬂc) Ovary (D) Stamen
Page 25 of 40
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60.  weoft v 3
@) @ a : (B) SRR
© =& -ﬁjﬂ @ M@ﬁ—a 3T j
~ Duodenum is a part of

(A)  Buccal cavity (B) Stomach

(C)  Large intestine l’uﬁ Small intestine
o 3 v fo, e, Yfm o v P

(A) Wm«?)&

In human beings, nasal cavity, larynx, trachea and lungs combine

to form
(A)  excretory system | (B)  reproductive system
(C) digestive system ~\2}” respiratory system
62. 9IeY A WTgeH IEHE 2
(A]  FATFESE w1 EETeH (B) UHHI 3rd Geag
—— N —
EEkCRot (D) ¥i9A Hegd
In plants, xylem is responsible for
(A) oxygen conduction (B) amino acid conduction
[E) water conduction ‘(D) food conduction
——

Page 26 of 40
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63.

—

€

' w
“Gibberellin is
. j(A] a phytohormone ) (B

carbohydrate fat

afi < e e wrew 7T % o g R 2

e ——

an cnzyme

@)

Wilting of leaves is due to which phytohormonc ?

l(B) Abscisic acid g

D)

(A)  Ethylene

(C): Cytokinin

Wﬁmw_ PR ?

a)

S AHT
= @

Which of the following is the male gamete ?

Auxin

(@7

(A) ~Ovum

(B)

Sperm

(C) Ovary (D) Fallopian tube

[24(M)-H/S-41003-(s1/60)|
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AR e 1 o e @
TS er 1 v e
T ‘ freiferfen 8§ A 1 w 1 e o
(A) ‘ z | T 1 om S % fere et
(B) am?ﬁmn_)Q @ PE \%?
s | =t I foem B) ¥ A
| O TR (D) o & A

An example of parasitic plant is 60 ”, ' —_—
(A) Mushroom @ ®) Tt ' Which among the following is responsible for clotting of blood ?
_y Blood platelets (B) WBC

(C)  Cuscuta Piriuis |

ﬁ@?ﬁqﬂnm% | (C) RBC - (D) None of these
_ it el g e seR A e gerd 1 S g 8 P
[N 1

"R @
' ©) 18 T P @) Em—
o toom @D[p Fim )

Binary fission is found in
astes is excreted by living organisms ?

(A)  Sponge LE % Hydra
(A) Urca

A (C) Bacteria (D) None of these
o ' .
. © Urlc acid

Which type of nitrogenous w

() Ammonia

Z s & - g i g 2
(A) ' mﬁwmﬂ R GGG snﬂﬁﬁ qftad 1 HRA 2
' 1 ‘ B) U
© G R B e
| ) R ' t!; (&) 3 (C)
Wthh hormone is secreted from pancreas '? o g e _
‘ The change in body that occurs during adolescence is due to
(A)  Epinephrine Testosterone - '
(&) Testosteron@ (B) Thyroxine

C Norepinephrine )(D) Insulin :
. | (C) Estrogen l)T Both (A) and (C) 2
. 24(M)-H/S-m03-(suso| ge 29 of 40
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; émﬂa"_wr@m% . ’ g “"*“‘ﬁ””@mmmév s &S | °

)

(a)  SfEm ®)
(G dfdem @ ©) © @
. The body is balanced by the organ . Pollen grains are formed in which of the following ?
_(A) Cranium (B) Cerebrum (A) Ovary (B) Style i
“ACY  Cerebellum (D)  Brain stem (C) Leaves (D) - Anther
b Uil R sfr e fifre A & '
(a) ’53_1.)0 4 ,IB)/ S ; (A) T E (B) U F
© = (D) @‘4 () uTiEE Em (i) __ehe T ) :
The word ‘Gene’ was coined by . T Blood pressure s controlled by -

(A)  Mendel @ I(B) Johannsen 5 : . ) Testis ‘ Thymus
(C) Lamarck Darwin ' (©)  Thyroid t Adrenal ‘

;‘, ﬁw%ﬁga___ftﬁm_ﬂ\a__éﬁﬁ@_mj? ' N 77. ﬂq—%ﬁaﬁmwéﬂﬁdﬁm%?
j (a) AR @ ' (B) it i @A) R B R
© germE P iy amhar L i © fmfE | (D) st

In which of the following binary fission does not occur ? Which disease is related to respiratory system ?

A) Yeasf (B) Paramoecium , ' (A) 'Diabete§ @B) Malaria
i C) Pneumonia (D) Diarrhoea

glenc D) Amoeba '
i« Eug'len,a ® el X x —————|2aM-H/5-41003-s1/s0] Page 31 of 40
- 30 of 4 . /
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79.
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T 4 w0 % =R Pefw W
TS
B

The sugar level in blood is controlled by

(A)  Estrogen @(B) Progesterone

TR
et

(A) (B)

© (D)

(D) Relaxin
S KR § F=d oral SR HiA-41 ¢ ?
(A) wEARE B) e wi
(€ T =i (D) @ HE

Muscles (B) Nerve cel

|

|

. A

Which is the longest cell of human body ? |
(A) ?

(C) Blood cell (D) Heart cell

g@mﬁmmﬁm—mmmw‘sﬁmé?

A)

(A) Carbohydratg

(C) Fat

Nucleic acid

(D)

Page 32 of 40
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TUg - § [ SECTION - B
wifrw s / Physics
g I W / Short Answer Type Questions
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| frg 2 9w Fratfa #1 4x2=8
Question Nos. 1 to 8 are Short Answer Type. Answer any 4 questions.
Each question carries 2 marks. 4x2=8
yzmﬁwaﬁarémﬁmﬁaﬁmmﬁl 2
Fil:ld the power of a concave lens of 2 m t"ocal length.
2'/ T < afom 3 2
| Define am;ﬁere.
e gdu % Hg 7 I ford 2
Write any three us‘es of a concave mirror.
2

srfteRfia Fol- |8 P TR Q ITEW

What is non-renewable source of energy ? Give two examples of it.

5./ 9T 1 Weho wwEd) 2

Explain scattering of light.
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